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Instructions:

There are 15 multiple choice questions each worth 2 points for a total of 30 points.  Please pick the best answer from the choices available.  There are also 14 short answer questions worth 5 points each for a total of 70 points.  Use as much space as needed to complete your answers of the short answers.  However, your answers should be a few words, a single sentence, or a short paragraph.  Make sure your answers are complete as written without reference to non-included material.

Multiple Choice Questions:

1 – What type(s) of information is available in Public Pair?

A – Office Actions
B – Responses to Office Actions
C – A & B
D – None of the above
2 – Must the specification of an application enable a claimed invention?
A – Yes

B – No

3 – The purpose of the written description requirement is to insure that the inventor was in possession of the subject matter of the claims.
A – True

B – False

4 – A design patent protects a functional design.

A – True

B – False

5 – A written description violation may occur when
A – The claims are too broad

B – The claims are too narrow

C – A & B

D – None of the above

6 – Can a design patent application provide a sufficient written description to satisfy 112 for a utility patent application? 

A – Yes

B – No

7 – The invention is defined by the scope of the invention enabled by the specification.
A – True

B – False

8, 9 & 10 –A claim of the patent has the following elements:
W;

X; 

Y; and

Z
8 – If the preamble is “comprising”, does an invention with just W, X, and Y infringe the claim?

A – Yes

B – No

C – Maybe

9 – If the preamble is “consisting of”, does an invention with W, X, Y, Z, and V infringe the claim?

A – Yes

B – No

C – Maybe

10 – If the preamble is “consisting essentially of”, does an invention with W, X, Y, Z, and V infringe the claim?

A – Yes

B – No

C – Maybe

11 – For a patent issued in 2008, the unadjusted term of a utility patent is twenty years from the date of issuance.

A – Yes

B – No
12 – Under current law, a patent application may be filed in the United States in the name of a company.

A – Yes

B – No

C – Maybe

13 – A co-inventor of a single claim of a patent has equal rights with the other co-inventors of the entire patent.

A – True

B – False

14 – With which of the following types of applications can new matter be added:

A – Divisional Application

B – Continuation Application

C – Continuation-In-Part Application

D – None of the above

15 – What procedure may be used to broaden the claims of an issued patent?

A – Reissue

B – Reexamination

C – Certification of Correction

D – None of the above

Short Answer Questions:
1.
Why might an applicant submit objective evidence of nonobviousness during patent prosecution?  Explain.

2.
Why must an applicant or patentee show a nexus between the claimed invention and the objective evidence?  Explain.

3.
Must a patent examiner show a suggestion or motivation to combine multiple references?  Explain.

4.
When is prior art considered analogous in an obviousness inquiry?

5.
When must a patent application be enabled?  Explain.
6.
How much experimentation by a third party may an applicant allot for when preparing the specification?

7.
As an attorney drafting a patent application, how would you comply with the best mode requirement?  Explain.

8.
Why would your ordinarily want to include broad and narrow claims in a patent application?  Explain.

9.
When does the language in the preamble limit act as a claim limitation?

10.
What is a Jepson claim and why would you want to avoid using one in a patent application?

11.
When will a patent application publish?

12.
How can a double patenting rejection be overcome?

13.
What are the condition(s) for seeking broader claims after a patent has issued?

14.
Co-worker F. Art Freely at your office hears that you are preparing to file a patent application on a new gaseous treatment for plants that was conceived by Ima T. Hugger.  Art tells you that he should be named as an inventor because he came up with a novel step that is part of one claim out of thirty claims in the application.  Should Art be a co-inventor?  Explain.
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